LESSON BASED ASSESSMENT 2025-26

5+10=15 : =t Iy T 5: sz
e’ u“ W“ : u;‘z’
(1x5 = 5 Marks) —elrdl i
CEG LI I T S | 2 e Pl | 1
S b STUIL L Pl 4| 4 S bnd ST ST S| 3
?uggfgbeué_/‘zfﬁu{léhgmf/ 5
1x6=6 Marks -za%yzd/j -11
Coh 4 dosT ) _ebw KB LS (6
(i kS F ) < Jed B G
(£ S id  bs ) -u,?ff.'/ Su L (8
(“'L'f t&.@kﬁ. Ky ) -c‘-t‘lg,lfdlr"‘l izﬁﬁ@.d/ﬂf(?,;lj (9
(LI - e gplaS / Jeesly (10
-u]é';f a_l:‘aéuu:uif/ u)’j ))LG//’JJ}"LC;J}( e/ /Lg/’lu? /:U/u (11

C i

bt

)

(2marks) -&-twsb KPS E 2 (13

(2marks) -&-twsb K5 a0 253 (12

PREPARED BY : SYED RASOOL

WWW.STUDYMANZIL.COM



&;V & LESSON BASED ASSESSMENT 2025-26

STUDY MANZIL

AL b f Key Answers
24497
o/f)llgk}‘(‘tju‘d/@/ 1
niY| 2
G5 gtost | 3
ps| s
7| 6
F 7
Le| 8
s
| 10
EARS
J |12
J# | 13

PREPARED BY : SYED RASOOL

WWW.STUDYMANZIL.COM






